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Amestecare

Soluție A: mA= 50g, cA =98%

Soluție B: mB= 80g, cB =10%

Soluție F: cF = ?

mF= mA + mB= 50 + 80 = 130 g soluție

cF

mH2SO4-A= cA *mA = 0,98 * 50 = 49 g H2SO4 pur mH2SO4-B= cB *mB = 0,10 * 80 = 8 g H2SO4 pur

mH2SO4-F= mH2SO4-A + mH2SO4-B = 49 + 8 = 57 g H2SO4 pur

cF
cF mH2SO4-F mF *100 = 57/130*100= 43,85(%)
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• mA, cA, mB, cB

• mH2SO4-A, mH2SO4-B, mH2SO4-F, mF

• cF
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Algoritm
DATE REZULTATE
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STOP

S

START

A, B

S = A + B
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cF

START

mA, cA, mB, cB

mH2SO4-A= cA *mA

mH2SO4-A= cA *mA

mH2SO4-F= mH2SO4-A + mH2SO4-B

mF= mA + mB

cF mH2SO4-F mF *100
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𝑥 =  
𝑥, 𝑥 ≥ 0

−𝑥, 𝑥 < 0

STOP

Modul

START

x

S = A + B

x≥0

Modul = xModul = -x

DaNu
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